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QUESTION 1

Which three are true about disabling of the Data Guard Broker management of databases in a configuration and the
effects of doing this? (Choose three.) 

A. The configuration transport mode may be modified while the entire configuration is disabled from broker
management. 

B. Database properties may be modified when that database is disabled from broker management. 

C. A standby database that is the fast start failover target, may be disabled from broker management only by using the
disable database DGMGRL command. 

D. The only way to disable broker management of the primary database is to use the disable configuration DGMGRL
command. 

E. The only way to disable broker management of a far sync instance is to use the disable configuration DGMGRL
command. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28295/cli.htm#i1005955 

 

QUESTION 2

Which three are always benefits of using a logical standby database? 

A. it can be used for database rolling release upgrades 

B. it can be used to replicate a single pluggable database (PDB) in a multitenant container database. 

C. It can be used as an updatable database for Real Application testing and then converted back to a standby database
without affecting the updates. 

D. It can be used for reporting workloads requiring additional indexes or materialized views or both. 

E. It provides a disaster-recovery solution with switchover and failover options that can recover any data updated on the
primary database. 

F. it can be used for testing patches without affecting the primary database. 

Correct Answer: CDF 

 

QUESTION 3

Which two statements are true for Data Guard environments with mufti-tenant databases? 

A. Different pluggable databases within a logical standby database may have different guard statuses. 

B. The Data Guard broker automatically always opens the pluggable databases of a standby database after a role
change operation. 
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C. The Data Guard broker automatically opens all pluggable databases of a primary database a role change operation. 

D. The CDBDBA privilege must be used instead of the SYSDBA privilege for connections as SYS to the root container
of a multi-tenant standby database. 

E. A multi-tenant standby database can have fewer pluggable databases than the primary container database 

Correct Answer: CD 

 

QUESTION 4

Examine the Data Guard configuration: 

Which three will be true after a switchover to Dogs? 

A. Sheep will be an enabled logical standby database. 

B. Cats will be an enabled physical standby database 

C. Dogs will be the primary database D. Sheep will be a disabled logical standby database 

E. Cats will be a disabled physical standby database 

Correct Answer: BCE 

 

QUESTION 5

Attempting to start the observer raises an error: 

DGMGRL> start observer: 

DGM-16954: Unable to open and lock the Observer configuration file Failed. 
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Identify two possible reasons for this error 

A. Fast-Start Failover is not yet enabled for this Data Guard configuration 

B. The observer configuration file is marked read-only. 

C. There is already an observer running for this Data Guard configuration. 

D. There is another observer running for a Data Guard configuration which uses the same observer configuration file 

E. The broker configuration has not yet been created. 

Correct Answer: BD 
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